IX CLASS

SOCIAL STUDIES
FORMATIVE TEST - lll (SLIP TEST)

Marks : 20 Time : 45 min.
I. Select the correct answer and write down in the bracket. 4x%=2M

1. Choose the correct answer ()
i. World’s largest arms factory - a. Electric dynamo

ii. Steam Engine - b. krupp family

iii. Werner Siemens - ¢.James watt

A. i-c, ii-b, iii-a B. i-a, ii-b, iii-c C. i-b, ii-c, iii-a D. i-b, ii-a, iii-c
2. By the inspiration of Russian communist revolution who support to socialism ()
A. M.N.Roy. B.Bhagatsingh C. Jawaharlal Nehru D. Above the all
3. Golden fiber ()
A. Cotton B. Silk C. Rubber D. Jute

4. In production of sugar India stands _____ place ()
A. Second B. First C. Third D. Fifth
Il. Answer the following questions in one or two sentences. 4X1=4M

5. Which raw materials are required for cement industry ?
6. What is intensive subsistence farming ?
7. Write 3 new political ideas pioneered by French revolution ?
8. Which persons were first used the term Industrial Revolution?
lll. Answer the following questions in four or six sentences. 3X2=6M
9. Prepare a table on invention during the time of industrial revolution?
10. Draw a poster a illustrate the ideas of “liberty , equality and justice” within the context of workers and women ?
11. Observe the image given and write about land distribution in the
context of Indian agriculture ?

IV. Answer any two of the following Questions. 2X4=8M
12. Write an imaginary dialogue between the big factory and the potter’s wheel in the context of the industrilation.

Employment in Industry, 1972-73 (in%) || Employment in Industry, 2009-10 (in%) 13. What are the differences in employment in the three
kinds of economic activities that you notice From these
pie charts ?

27

24

magriculture  mindustry  w Services m Agriculture Industry 1 Services

14. Locate the countries in the World map in which the protest movements took place.
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